Autumn Test 4

1 | 40+20+10= 2 = 1 of 9
3 + 200 = 645 q | L+i-

5 | 10X =0 6 | 600 —321=

7 — 624 =176 8 =9X3
O |48x3= 10 | 7x8=

12 | 4007 — 2688 =

M1 5x13x6=

13 | 743 x 9= 19 | 350 X 100 =

15 | 6+-10=

o oo agjaggagog
o o a0 agjagjagog

16 %ofzm -
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Autumn Test 4 (continued)

17 | 5375 x 6= 18 | 5404 -~ 8 =
) )

19 = 742,854 + 85,637 D 20 | 3= D
21 | 80 X300 = D 22 | 653 — = 6.532 D
23| £ -1- 0 29| 2 x2- 0

A _ _
25 10 of 70 = D 26 | 6.54 + 68.774 = D
7 6 4
27 28
X X 912
(2 marks) (2 marks)
( Total marks / 30)
How well did you do? + 1 2 [19 26
Colour the numbers of the questions - 6 12 (2223
you goft correct. X 8 10|n|13[14[17]20]21]|24]|27(28
+ 5115 |18
Fractions |2 |4 |16 |23]24|25
Decimals |16 |22 | 26
Missing 31517122
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